:l“:;-w'd curve of best 1t.

Remark. Change of Origin. Usually, the values of 7 are for different years, say. I 1(11-13)
4 thus computation of X ¢ % 2, Y 8,3 ¢ etc., and hence the solution of equations (11-12) an ( 4
for linear trend or equations (11-15) for parabolic trend is quite tedious and time consuming. However, 11
aay be remarked that the time variable 7 in the time series has no magnitudmallvalue but it has only
_ositional or localion_'lal importance. Hence, we can shift the origin in the time variable according to our
convenience and assign it the 00n§ecutive values 0, 1, 2,..., etc.. The time period allotted to the value 0 1s
Lrown @ the period of origin. This might slightly facilitate the solution of the nor_mql equations. However,
(he algebraic cqmputatlons can be simplified to a great extent by shifting the origin 1n time variable 1 to a
qew variable x mn such a way that we always get 3 x =3 x> = 0. The {echnique is explained below and can
he applied only if the values of t are given to be equidistant, say, at an interval /.

990, 1991,..., 1999

If n, the number of time series values is odd, then the transformation is :

_ 1 —middle value (11-16)
Interval (h) .

Thus, if we are given yearly figures for, say, 1990, 1991, 1992, ..., 1996, i.e., n = 7, then
_t—middle year
& I
~ Putting 7 = 1990, 1991, 1992, ..., 1996 in (*), we get x = -3, -2, -1, 0, 1, 2 and 3 respectively so that
$1=32=0. |

If n is even then, the transformation is :

iy t — (Arithmetic mean of two middle values)
3 (Interval)

X =t—1993 2:(*)

k1 1517)

~ Thus, if we are given the yearly values for, say, 1995, 1996, 1997...., 2002, then

1— 1(1998 +1999)
1 x = , =2(t- 1998:5) =21 3997 - bt
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